


@ Basic numeracy &

facts revision

Year 3 - Book 1

4 + 4 = 8

6+7:?
7 + 3 = 10
0-9 = 1
8 - 1 = 7
13-7 = 6
IXZZT
10 x 3 = 30
4 x 5 = 20

60+10:L
5 + 5 =1

Join these dots as you count in 2's

18 14
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@ Basic numeracy &

facts revision

Year 3 - Book 1

9 + 1 =10
1 +7 = 8
7+6:?
8 - 2 = 6
13- 8 = 5
0-3 =7
2 x 2 = 4
10 x 6 = 60
1 x 5 = 5
6.2 3
80 + 10 = 8
45 + 5 = 9

Werite these words in alphabetical order.

again able
apart after
able again
alike alike
ask apart
away ask
after away
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@ Basic numeracy &

facts revision

2 + 6 = 8
8 + b :?
3 +7 =10
7 - 4 :i Join these dots as you count in 5's
13 - 9 = 4
10-5 =5
3 x 2 :T
10 x 8 = 80
9 x 5 = 45
8 + 2 = 4
10 + 10 = 1
15+ 5 = 3
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@ Basic numeracy &

facts revision

Year 3 - Book 1

4 + 3 = 7

9 + 4 = 13
5+ 5 10
14 -5 =9
7 -2 =5

11 -2 =9
4x2zz
10x1=£
3 x b =15

10+ 2 =5
40+10:i
30+ 5 = 6

Werite these words in alphabetical order.

bike bake
box bed
brick bike
build black
bed box
black brick
bake build
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14 Year 3 - Book 1
7
11

74 Join these dots as you count in 10's
7 100

3
10 90 10
40 ||® 20
30

L

3
4 60 40
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@ Basic numeracy &

facts revision

3 +5 = 8
6 + 8 = 14
14 -7 =7
8 - 6 = 2
1 -4 =7
6x2=?
10 x 2 = 20
10 x 5 = 50
14+2=L
100+ 10 = 10
10+ 5 = 2

N
ok
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Werite these words in alphabetical order.

cat
cow
child
cut
crazy
cloth
circus

cat

child

circus

cloth

cow

crazy

cut




@ Basic numeracy &

facts revision
7.+ 7 =14 | UE@ Year 3 - Book 1
6 + 2 - 8
4 + 7 = 11
11 -6 =5 What is the time on each clock?
9 -1 =- 8
14 - 8 = 6 08:00
7 x 2 = 14 (20:00)
10 x 10 = 100
2 x b =10
6= 2 = 8 02:00
30 + 10 = 3 (14:00)
3+ 5 = 7

Copyright ©,009¢ AWS Publications Ltd



@ Basic numeracy &

facts revision

6 + 5 = 11
1 + 8 = 9
9 - 3 = 6
14 - 9 = 5
-7 = 4
8x2:146
10 x 3 = 30
7 x b = 35
18+ 2 = 9
90 + 10 = 9
25+ 5 = 5

Werite these words in alphabetical order.

deep dark
dark deep
dress died
doing doing
dwarf dress
dust dust
died dwarf
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@ Basic numeracy &

facts revision

3469
9 + 5 = 14
15 -6 = 9
9 - 2= 7
11 - 8 = 3
9x2:£
10 x 9 = 90
5 x b = 25
20 + 2 = 10
50 + 10 = 5
40 - 5 = 8

Year 3 - Book 1

How much money in each 'piggy-bank'?

- - Iy $4.70
X j@e j
;5; J\l \K\g _—
/'\
o T~
|/
$4.20 @@@ﬁ
— 10 -
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@ Basic numeracy &

facts revision

6 + 9 =15

2 + 7 = 9

8 = 3 = 5  |[" Write these words in alphabetical order.
11 -8 = 3

14 - 6 = 8 eye ear
10 x 2 = 20 ear edge
10 x 5 = 50 end egg
8 x 5 = 40 edge end
12:2 = 6 ever equal
20 + 10 = 2 €99 ever
50 + 5 = 10 equal eye
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@ Basic numeracy &

facts revision

o + 2 - 11
4,{5:Z
6+ 9 - 15
5.7 -8
o - 5 - 2
O
IXZ:Z
0 x 3 - 30
4 x5 - a0
4_2:Z
60+ 10 = 6
5+ 5 = 1

Colour in 2 squares

NG,
>
O <> i
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@ Basic numeracy &

facts revision

7 + 8 = 15

5 + 4 = 9

9 = 6 =_3 | Writc these words in alphabetical order.
5 - 8 = 7

12 - 4 = 8 fish fall
2 x 2 = 4 fall feed
10 x 6 = 60 fork fish
1 x5 = 5 float float
6 - 2 = 3 fun fork
80 -+ 10 = 8 feed free
45 - 5 = 9 free fun
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@ Basic numeracy &

facts revision
6 +3 =9 | |
8 + 7 =15 | &
°2 -7 =_2 What is the fime on these clocks?
2 -5 =7
5-9 =6 10:30
3 x 2 = 6 (22:30)
10 x 8 =E
9 x 5 = 45
8 x2 = % 04:30
10 =10 = 1 (16:30)
5+ 5 = 3
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@ Basic numeracy &

facts revision

7 +2 =9
5 + 7 = 12
9 + 6 = 15
9 - 8 =_1
6 -7 = 9
2 -6 = 6
4 x 2 = 8
10 x 1 = 10
3x5:?
0+ 2 = 5
40 -+ 10 = 4
30: 5 = 6

Werite these words in alphabetical order.

grew game
goat geese
geese giant
guess glass
game goat
glass grew
giant guess
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@ Basic numeracy &

facts revision

8 + 1 =9 | YPH Year3 - Book1
7 +9 =16 | &=
6+ 6 =12

11 -9 :i Colour in 2 triangles

9 - 4: 5

15 - 6 = 9 ‘ Q
5 x 2 = 10

10 x 4 = 40

6 x 5 = 30

2 = 2 = 1

—
o

v 0|~ O ]<

(&)
]
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@ Basic numeracy &

facts revision

1 + 9 =10

7 + 5 = 12

12 - 8 :i Write these words in alphabetical order.
6 -9 =7

10-2 =8 odd odd
6 x 2 = 12 ouch only
10 x 2 = 20 only open
10 x 5 = 50 over order
14 + 2 = 7 own ouch
100 = 10 = 10 order over
10+5 = 2 open own
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@ Basic numeracy &

facts revision

8 + 4 =12
9 + 7 =16
2 + 8 =10
17 - 8 = 9
10- 4= 6
2 -9 = 3
7 x 2 = 14
10 x 10 = 100
2 x 5 = 10
16+ 2 = 8
30+ 10 = 3
3+ 5 = 7

7 o $4.20

( X’
= —‘(\_\ \ _——
/-\
115 NG
-1
$2.10 \A A Al
\
g _—

Copyright ©,009¢ AWS Publications Ltd




@ Basic numeracy &

facts revision

8 + 9 = 17

4 + 6 :T

9 + 3 = 12

13 - 4 :L Write these words in alphabetical order.
10 - 6 = 4

7 - 9 = 8 play paint
8 x 2 = 16 post pencil
0 x 3 = 30 paint photo
7 x5 = 35 photo pinch
8- 2 = 9 prize play
9 = 10 = 9 pinch post
25 : 5 = 5 penci prize
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@ Basic numeracy &

facts revision
4 + 9 =
6 + 4 =
9 + 8 =
13 - 5 =
18 - 9 =

Draw half past 10 on this
10 - 8 = ] clock face.
9 x 2 =
10 x 9 =
5 x b =
20 = 2 =
— Draw half past 4 on this

50 + 10 = 5 clock face.
40 - 5 = 8
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5+ 8 = 13

9 + 9 =18

8+ 2 =10

10 - 1 :L Write these words in alphabetical order.
12 -7 =5

%6 - 8 = 8 sell sale
10 x 2 :? sale scary
10x 5 = 50 shall sell
8 x 5 = 40 scary shall
2 : 2 = 6 shirt shirt
50 = 10 =T stick skip
50 - 5 = 10 skip stick
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